


¥
EUGENE DIETZGEN CO.
DRAWINM"@ Mm%wd SURVEYING INSTRUMENTS
aw&o

Chicago New York San Fr. ew Orleans Pittsburg Toronto
DISTANCES ,F*MENTZR‘%QOADWAY FOR CROSS-SECTIONING.

Roadway 16 feet wide. Side Slopes 1 on 1.
For Single Track Embankment,
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43.3
443
45.3
46.1 46.3 ; . 6.
47.1 47.3 47.5 | 47.6 | 47.7 .8 147.9
48.1148.2148.3 48.5148.6 1 48.7 1 48.8 148.9

Example—If point is 22.6 ft. above grade, how far should it be from center line
to be a slope stake point? Ans. from Table 30.6. For same slopes but other widths
of roadbed, corract above figures by one-half difference in width of roadbed; thus in
example above, for 20 ft.roadbed distance will be 30.64-(20—16)+2 or 2 ft. added to
80.6 =32.6. For slopes of 1 on 114 see inside of back cover,
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DIRECTIONS FOR USE OF TABLES

TABLE No. 1.

Distance of slope stake from side or shoulder
stake for any width roadway, slope 124 to 1.
If ground is nearly level, the cut or fill at side
stake is located by the double entry method in
left column and top row. The number in body
of table in same row and column gives distance
from side stake to slope stake. If ground is not

level estimate the difference in elevation between

the side stake and slope stake, lower target by this
amount if cut, elevate if fill. Add this amount
to cut or fill and find distance in table. Set up
rod at this point, and line of sight should cut
target. * If it does not make the slight adjustment
necessary.

TABLE No. 9.

To find Tangent and External for curve of
any other degree, divide by degree of curve and
add correction found in column of corrections.

Degree of curve with a given I may be found
by dividing tangent, (or external), opposite I by
given tangent, (or external).

The distance from a point on the tangent to
the curve is very nearly the square of the tangent

length divided by twice the radius.
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DISTANCES FROM SIDE STAKES FOR CROSS-SECTIONING,

SLOPE 14 T0 1. ROADWAY OF ANY WIDTH.
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™ Computed by L. Leland Locke.
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thus in example

above for 20 ft. roadbed distance will be 41.9-4-(20—16) +2 or 2 ft. added to 41.9

For slopes of 1 on 1 see inside of front cover.
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For same slopes but other widths of

Side Siopes 1 on 1%

Made in U. S. A,

22.6 ft. above grade, how far should it be from center line to

For Single Track Embankment.

Ans. from Table 41.9.
Copyright, 1914, by Eugene Dietzgen Co.

Roadway 16 feet wide.

ple—If point is
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Exam
be a slope stake point?

roadbed correct above figures by one-half difference in width of roadbed;




